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B ( Statistics ) o

281N E Z » Mat B — A RMIVEHR BRI TR - E#EHE
B B T - REEHENER - B HELSEEAR - kK&
BN (R F £l B 3 ~ R ERAL Ty HE G B PR > W) AE AN HE R IR T 18
HEBH B TR R -

3 H Rl AH B2 VT AR FF 2wk > {8 A B R I 1 50 = TH B sl R B
BHEA ~ SRR TR R B e A7~ B M AR TR IS~ BUR &
HBORMEE ~ ZIRA DRI ---5 o hIbw] W #EH 2
FE Bt 8 — g pHIER 5 o T — M AT TR ET L BT IE S T A o

A, HA G E il == A B B AL A B ERE RSB B > ARBBUGE
BVimEE B 2 Rk KRB2GE LGB ENB2EN > RERERLR
Bk EE © A% ~ EHENSAIE 2 R T A BRI 2 1% DY R B 2
HEMNEHE Y 2 % WEW DUEEME 7B R ~ REE -
LR THE

o, e SR AT B2 11 P e R R ] U7 A A B b B > {ELRRET U7 iR i I i
R MERR T o 2% B I R Y LA T
(1)& o F& IEHE -

(2)75 5 B IEHE -
COEHEZ 5338 -

L ARG HRME R
(At af ( Descriptive Statistics ) :

MR ER DM (Data Analysis) » @#aHJIENVIS A o HE
B E R R IR ERHE — R B~ fHARIZOR - 6 FLR A S AR AT
fiil 2 ke pt At m VAT L > (ERRE VARG SRE B R B R < &7 a4
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(2)HEE#EET ( Inferential Statistics ) :
FEEWMWHIERHRAE RS SE  DUE S RIS 2 2 TR
(RIZ o BIAN - BROR} R e A8 I R i BF 288 1Y 2 ol i S R S o BT
EH BB Y HAR - SRR RIS B 2 MEAT LIRS - SIf 38 i ¥ A
G EHEEZIVED
2k R %5
(1)E % 5 # 2 ( Univariate Statistics ) :
it s Ha — M > 2MEH R P RRA ~ i 5B R
SrMT o JIERER R S AT ( One-Way ANOVA) ~ fiff B0 i 73 #fr
~ BB R BT~ WRRR R S 40 b S e
(2)% % g #i il ( Multivariate Statistics ) :
B E R AT ZE o P ERET Y8 & B R (el sl /e {6 DL > an %
B ~ 288 ERE ST (MANOVA) ~ 85153 ~ TRk
o ~ RBESH ~ BRI ~ 2R RIED -5 -
3R e A
(1)M3#EF ( Theoretical Statistics ) :
BRET Y E B > F A O AUHER e BV RS o RO fim 1 25
FET T I AAT A > ZHBZB NG SRS ~ BRERE---FTHE - filan - H
e ~ HEBCH A ~ I mmfR o -5 o 39U RO IR ANV R
o B P G AT Y
(2)FE I # 21 ( Applied Statistics ) :
FI LR o B B 1 S0 54 26 1R > B B Y A6 325 1 3G e & v iy 2% 4 ke
B A > ZIBRRZHIRE o Flan - 8 SLEsAr ~ B ~ IRERE
PGP - 5 > 3 DGR A AT S 0 - T BIEE WS s - DAdk
EEHME > NPT - TmEs - NETH - ENEH -
M > HEMMIEANG - AEEBA THETIEH -
A ARBEREBE
(1)FF# T ( Parametric Statistics ) :
TERRETHEm A > ZH e € RERRIY 2 BO LT - — i S > REBUR AT
ARG E R ~ FHEP RS KRR S - e 2esh - &
RIS S WU R AT - RS 2 REEUHE AT o (- B RER RS E ~ SRk
i te € ~ BB - REME BEIEFEOE - Bl
BRI REBUARET o
(2)40t REBE#E3F ( Non-Parametric Statistics ) :
Ine 7 e RERRIY > BC ARG o — % S > MERREHEGHE & R 4 an i}
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—  TRA/PUNBXERFHBHAPENIS :

u 2 B5R ed]l HhE NS
T K 10 5B 95
EXP 25 =} 68
wBE 33 T 43
BER 39 5B 71
REZ 51 Z 82

RIS BERIEERE -

CHER—EHRME - WRBPHERE -

COOBRERS TIESy ~ TERBR ~ TR ~ TIPS -

ST TORHME D A TS 5 plist 1 WA HYACEE - 1380 T951 » 95 HiR

—{EERSE - CRE T T AMEAE KRB hH 58] 95 53

— - —SERDRE S BREE DRIR 132704364150 HOE
T3IEE
CBREIIERE <
CERBOMBIIIMRZEERIN T &R -

I ESIRIRER Y (X, - X)=0 -

|l

I

I ESIBIERABEDR Y (X, - X0* <D (X, - A » AZX -
k

z i

; = " 1347.0+43.6+4.1+5.0
H (#k /\i; ==l = =
) HERH X . 5

) LEC 42 /DIBUEA 1.3~3.6~4.1 JRBEFIE

o

4.2

11.3-4.2+[3.6-4.2]+|4.1-4.2|=3.6



2.5 4.2 KIYELETT 7.0 ~ 5.0 > PHEERIES -
17.0~4.2[+|5.0-4.2]=3.6

3. LR ST S S A B R 1A A 2 1 B

(5)(1.3-4.2)+(7.0—4.2)+(3.6—4.2)+(4.1-4.2)+(5.0—4.2)=0 » Hf :

L i(xi -X)=0
i=1

2. i(xi ~X)?
i=1

=(1.3-4.2)*+(7.0-4.2)*+(3.6—4.2)*+(4.1-4.2)*+(5.0-4.2)
=17.26
1.5 ABAFER 42 ZEEE > W1 A=4.1> | :

i(xi - A’ =17.31
i=1
2. WU ENEE -
3%, - X <Y (X, - AY
i=1 i=1

I

LR E RN - FER L= IR AT AR - A0 -

= 0y fy T 0y -y T 05 [ =ﬂx60+£><56+£><59
n, +n, +n; 153 153 153
=58.248
50 55 48
le ’ W2= ’ 3=
153 153 153
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¢ 038 R A A B RHAE A R B A P I B O T - SR PRI 8 - SEAT R
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